
l;=g+= /sd ?

/lg+u ljn jf^ 

e'QmfgL ? 

e'QmfgL ePsf] 

? &]ufgf 

1 1 1000000 1000000 j*f g+= 1

2 2 400000 j*f g+= 1

3 3 200000 j*f g+= 1

4 4 350000 j*f g+= 1

5 5 100000 j*f g+= 1

6 6 100000 j*f g+= 1

7 7 350000 j*f g+= 1

8 8 400000 j*f g+= 1

9 9 50000 50000 j*f g+= 1

10 10 500000 j*f g+= 1

11 11 200000 j*f g+= 1

12 12 1200000 1200000 j*f g+= 1

13 13 200000 200000 j*f g+= 1

14 14 400000 j*f g+= 1

15 15 250000 250000 j*f g+= 1

16 16 j*f g+= 2

17 17 j*f g+= 3

18 18 j*f g+= 4

19 19 j*f g+= 5

20 20 j*f g+= 6

21 21 ]̂G*/ j*f g+= 1

22 22

23 23

5700000 2700000 65=21 k|Ü

24 1 500000 j*f g+= 2

25 2 200000 200000 j*f g+= 2

26 3 1500000 1500000 j*f g+= 2

27 4 1000000 1000000 j*f g+= 2

28 5 200000 200000 j*f g+= 2

29 6 100000 j*f g+= 2

30 7 200000 200000 j*f g+= 2

31 8 700000 j*f g+= 2

32 9 j*f g+= 2

33 10 j*f g+= 2

34 11 j*f g+= 2

s'n hDdf 

a/fxtfn ufpFkflnsf 

ufpFsfo{kflnsfsf] sfof{no 

of]hgsf] k|ult ljj/)f 

cDnf3f/L s'jf lgdf{0f

;]G; g]kfn ejg lgdf{0f

>L rf}/ v]n d}bfg lgdf{0f

hgHof]tL ljBfno # sf]7] ejg lgdf{0f 

;Demf}tf ePsf] of]hgfsf] gfd 

k|f=lj= ;'u'/vfn ejg lgdf{0f 

ljr s'nf] Knfi6/ ufFpdf 

lelq vf]nf l;rfO{

>Lrf}/ lg=df=lj= df tf/hfnL 

uf8f kfgL k|f=lj=df 5fgf dd{t

lg=df=lj= >Lrf}/ ;/:jlt dlGb/ lgdf{0f 

uf8fkfgL vfg]kfgL 6+sL lgdf{0f 

s;]{gL cflnbdf/ vfg]kfgL

uf8fkfgL sfkmnu}/f ;8s 

cb'jf j];f/ v]tL cg'bfg

t/sf/L v]tL cg'bfg

sfkmnu}/f ljBfno lkmN8 dd{Tf

ljh]Zj/L df=lj=sf] tf/hfnL

b'jLrf}/ l;rfO{ kf]v/L

/fgL3f6 t/Ëf ;8s jf6f]

s'n of]hgf @# j6f ;Demf}tf ePsf] !% j6f

lu/L3f6 8f]Ksf ;8s

vo/ jf/L s'nf]

af+u]tfn l;rfO{ kf]v/L

lelq s'gf tf/hfnL 

sdnfk'/ vf]nf lj+r vx/] vf]nf 

1



35 12 j*f g+= 2

36 13 j*f g+= 2

37 14 j*f g+= 2

38 15 j*f g+= 2

39 16 j*f g+= 2

40 17 j*f g+= 2

41 18 j*f g+= 2

42 19 j*f g+= 2

43 20 j*f g+= 2

44 21 ]̂G*/ j*f g+= 2

45 22 j*f g+= 2

46 23

4400000 3100000

33 k|

47 1 200000 200000 j*f g+= 3

48 2 200000 200000 j*f g+= 3

49 3 500000 500000 j*f g+= 3

50 4 300000 j*f g+= 3

51 5 500000 500000 j*f g+= 3

52 6 400000 400000 j*f g+= 3

53 7 100000 j*f g+= 3

54 8 200000 j*f g+= 3

55 9 300000 j*f g+= 3

56 10 150000 j*f g+= 3

57 11 2500000 2500000 j*f g+= 3

58 12 300000 j*f g+= 3

59 13 300000 300000 j*f g+= 3

60 14 100000 j*f g+= 3

61 15 400000 j*f g+= 3

62 16 j*f g+= 3

63 17 j*f g+= 3

64 18 j*f g+= 3

65 19 j*f g+= 3

66 20 j*f g+= 3

67 21 j*f g+= 3

68 22 j*f g+= 3

69 23 j*f g+= 3

70 24 j*f g+= 3

71 25 j*f g+= 3

72 26 j*f g+= 3

6450000 4600000

50 k|=

s'n hDdf 

s'n of]hgf @! ;Demf}tf ePsf] &

s'n hDdf 

s'n of]hgf @^ ;Demf}tf ePsf] !#

l;4u}/f t6jGwg 

s]nf8L l;rfO{ kf]v/L

l;:g]/L kf]v/L lgdf{0f

s0ff{nL b]vL x/]{ sf+8f 6«ls+u dfu{ lgdf{0f

sfn e}/j dlGb/ lgdf{0f tyf dd{t

s[lif tyf kz' ;+sng s]Gb| lgdf{0f

kfUdf l;:g]/L x'b} j'ª3f6 s0f{fnL hf]8\g] ;8s

e}/lj lg=df=jL ;'s'/dfnf ljBfno tf/hfnL 3]/jf/ 

l;4r'nL dlGb/ lgdf{0f tyf dd{t

d;fg] kfgL9n bdf/] ;8s

alQ;] l;+rfO{ lgdf{0f g/l;+usf+8f 

;'s'/dfnf t6jGw 

9ns]cf+k t6jGw 

j'ËufpF t6jGw 

ufpF3/ lSnlgs :tf]/GgtL l;:g]/L 

lz4 ulx/f vfg]kfgL lgdf{0f 

alQ;] l;rfO{ lgdf{0f gl;+usf+8f 

x/]{sf8f 6d6f 6f]n vf=kf= lgdf{0f

cf]vt]gL vf=kf=

g]=/f=k|f=lj= u'/fF;] lkmN8 lgdf{0f

a/fx lg=df=jL l6k Knf:6/



73 1 500000 500000 j*f g+= 4

74 2 1700000 j*f g+= 4

75 3 500000 j*f g+= 4

76 4 500000 j*f g+= 4

77 5 500000 j*f g+= 4

78 6 500000 j*f g+= 4

79 7 150000 j*f g+= 4

80 8 250000 j*f g+= 4

81 9 100000 j*f g+= 4

82 10 100000 j*f g+= 4

83 11 200000 j*f g+= 4

84 12 500000 j*f g+= 4

85 13 100000 j*f g+= 4

86 14 300000 j*f g+= 4

87 15 50000 j*f g+= 4

88 16 100000 j*f g+= 4

89 17 50000 j*f g+= 4

90 18 j*f g+= 4

91 19 j*f g+= 4

92 20 j*f g+= 4

93 21 j*f g+= 4

94 22 j*f g+= 4

6100000 0

500000 48 k|=

95 1 700000 700000 j*f g+= 5

96 2 500000 500000 j*f g+= 5

97 3 300000 300000 j*f g+= 5

98 4 200000 200000 j*f g+= 5

99 5 300000 j*f g+= 5

100 6 1000000 1000000 j*f g+= 5

101 7 1000000 j*f g+= 5

102 8 500000 j*f g+= 5

103 9 1000000 j*f g+= 5

104 10 100000 j*f g+= 5

105 11 1500000 j*f g+= 5

106 12 300000 j*f g+= 5

107 13 200000 j*f g+= 5

108 14 j*f g+= 5

109 15 j*f g+= 5

110 16 j*f g+= 5

111 17 j*f g+= 5

hghftL ejg lkmlgl;Ë

;fttgf{ l;rfO{ of]hgf 

al8\8rf}/ b]vL /rf x'b} cdnfvfnL ;Dd rqmky 

lgdf{0f

rr{3/ lgdf{0f al8\8rf}/ 

;fd'bflos :jf:Yo O{sfO{ ejg r]kfË

jfnHof]tL k|f=lj= /rf sfk]{6 cl/b tyf jfn k]lG6+u

luldg] /S;]gL b]vL xfQvfn ;Dd ;8s :Qf]/GgtL

cdnfvfnL cfdkfgL vfg]kfgL lgdf{0f

lzj dlGb/ lkmlg+l;Ë jl8\8rf}/

e]/L 5fn s'nf] lgdf{0f

;'gbjf/L s'nf] lgdf{0f

l;4fy{ k|f=lj= wdnfvfnL tf/jf/

x's]{ s]p/]gL a/fxtfn jf6f] s'6f ;Dd 

l;Dn]kfgL ljBfno ejg lgdf{0f

/fdhfgsL ljBfno ejg lgdf{0f @ sf]7]

s'6f zf}rfno lgdf{0f 

vx/]vf]nf t6jGw

wf]Gb|vf]nf vf=kf= s;]gL

e]/L glb s'6f t6jGw

e]/L df=lj= kvf{n lgdf{0f 

/fhL ;u|fno

;/:jtL lg=df=jL ejg lgdf{0f

s'n hDdf 

hDdf of]hgf @# ;Demf}tf ePsf] !!

cfn'sf] ljp vl/b

s'jf dd{t tfn

9'Ë]vfn l;rfO{ tfn

a[Iff/]k0f sfo{qmd ;fljs j8f g+= %

;t;+u ejg lgdf{0f ;fh3f6

alQ;] s'nf] lgdf{0f

e]/L gbL 5fk|] t6jGw 

vG6] vfg]kfgL

vf=kf= kf]v/L lgdf{0f tNnf] t/+uf

3



112 18 j*f g+= 5

113 19 j*f g+= 5

114 20 j*f g+= 5

115 21 j*f g+= 5

116 22 j*f g+= 5

117 23 j*f g+= 5

118 24 j*f g+= 5

119 25 j*f g+= 5

7600000 2700000

36 k|=

120 1 2350000 j*f g+= 6

121 2 50000 j*f g+= 6

122 3 200000 j*f g+= 6

123 4 300000 j*f g+= 6

124 5 150000 j*f g+= 6

125 6 300000 j*f g+= 6

126 7 400000 j*f g+= 6

127 8 200000 j*f g+= 6

128 9 200000 j*f g+= 6

129 10 200000 j*f g+= 6

130 11 150000 j*f g+= 6

131 12 1000000 j*f g+= 6

132 13 250000 j*f g+= 6

133 14 1300000 j*f g+= 6

134 15 200000 j*f g+= 6

135 16 300000 j*f g+= 6

136 17 300000 200000 j*f g+= 6

137 18 50000 j*f g+= 6

138 19 j*f g+= 6

139 20 j*f g+= 6

140 21 ]̂G*/ j*f g+= 6

7900000

200000 71=5 k|=

141 1 80000 j*f g+= 7

142 2 100000 j*f g+= 7

143 3 100000 j*f g+= 7

144 4 40000 j*f g+= 7

145 5 30000 j*f g+= 7

146 6 500000 j*f g+= 7

147 7 400000 j*f g+= 7

148 8 300000 300000 j*f g+= 7

149 9 50000 j*f g+= 7

s'n hDdf 

hDdf of]hgf @! ;Demf}tf ePsf] !*

gofFjg k}ofkfgL ;8s

ufxfvfn e'DsL ;8s

zfvf ;8s dd{t

;}gf s'nf] lgdf{0f gofFjg

h'u]kfgL vf=kf=dd{t

g]6fnL6f]n vf=kf=

bufnL6f]n vf=kf=

af;vf]nf vf=kf=

sd]/]kfgL vf=kf=

j8f g+= ^ l;nfO{ s6fO{ sfo{qmd 

/t'/fo di6 dlGb/ lgdf{0f

j;Gtk'/ vf=kf lgdf{0f 

j'l6 l;rfO{ gofF 

cf]bfn 6f]8\s] / kf]v/Lsf+8f 3}6f] sfo{qmd 

vDjfuf8} j'l6 O{v]gL x'b} /S;]gL ;8s 

O{lbgL laBfno tf/jf/

j8f g+= ^ O{Gb|]gL o'jf Snj

emf/v]t /jfv]t bf]efg t6jGw

ljp/]gL d'xg ;+/If0f / dd{t

wgs'6L jfn lzIff 

/fgLjg ko{6g If]q 

sfn e}/j ljp/]gL dlGb/ lgdf{0f

wgs'6L vfg]kfgL dd{t

nfdsfg] ljBfno tf/jf/

nfdsfg] /jf emf/v]t /t'/fo s[lif ks]6 

jg s'nf] 

nfdsfg] l;rf{O{ s'nf]

ljp/]gL vfg]kfgL lgdf{0f

s'n hDdf 

s'n of]hgf @% j6f ;Demf}tf ePsf] !@ j6f



150 10 50000 50000 j*f g+= 7

151 11 50000 j*f g+= 7

152 12 600000 j*f g+= 7

153 13 350000 j*f g+= 7

154 14 30000 30000 j*f g+= 7

155 15 150000 j*f g+= 7

156 16 100000 j*f g+= 7

157 17 150000 j*f g+= 7

158 18 100000 100000 j*f g+= 7

159 19 80000 j*f g+= 7

160 20 100000 j*f g+= 7

161 21 80000 j*f g+= 7

162 22 50000 50000 j*f g+= 7

163 23 100000 j*f g+= 7

164 24 80000 j*f g+= 7

165 25 80000 j*f g+= 7

166 26 60000 j*f g+= 7

167 27 50000 j*f g+= 7

168 28 400000 400000 j*f g+= 7

169 29 100000 j*f g+= 7

170 30 50000 j*f g+= 7

171 31 250000 j*f g+= 7

172 32 j*f g+= 7

173 33 j*f g+= 7

174 34 j*f g+= 7

175 35 j*f g+= 7

176 36 j*f g+= 7

177 37 j*f g+= 7

178 38 j*f g+= 7

179 39 j*f g+= 7

180 40 j*f g+= 7

181 41 j*f g+= 7

182 42 j*f g+= 7

183 43 j*f g+= 7

184 44 j*f g+= 7

185 45 j*f g+= 7

186 46 j*f g+= 7

187 47 j*f g+= 7

188 48 ]̂G*/ j*f g+= 7

189 49 sf]̂ ];g j*f g+= 7

190 50 sf]̂ ];g 930000 j*f g+= 7

4660000 1860000s'n hDdf 

wf/fkfgL ;f}o{ vfg]kfgL cfof]hgf 

slif tyf kz' lzlj/ ;+rfng 

j8f sfof{no kmlg{r/ tyf ;~rf/ 

a/rf}/ uf0fkfgL vf=kf= 

cfdf ;d'xsf] 3/ Knfi6/

ufxfvfn ufp3/ lSnlgs ejg dd{t

sNof0f :ofpn] ;8s

6'gfkfgL l;+rfO{

luldg] vf=kf= 

jfnljsf; ejg e'?Ë] lgdf{0f

sfnfvf]nf vf=kf= lgdf{0f 

r'ln8fF8f dlGb/ lgdf{0f

cd{n] l;rfO{ kfOk vl/b

jfn ljsf; ejg e'?+u]

jfnljsf; ejg dd{t

s/+u] ljBfno kftf

v]n ;fd|fuL

;fgf] vf]nf vf=kf= 

jNnf] t/+Ë] vf=kf= 

v;]{ l;rfO{ 

gofFjg lkmN8 lgdf{0f

nfdfvfnL ljBfno tf/jf/

vf=kf= ufxfvfn

sNof0f zf}rfno

8fj uf]/]6f] jf6f] lgdf{0f

5



54 k|

191 1 2000000 2000000 j*f g+= 8

192 2 500000 500000 j*f g+= 8

193 3 500000 500000 j*f g+= 8

194 4 400000 400000 j*f g+= 8

195 5 500000 500000 j*f g+= 8

196 6 450000 450000 j*f g+= 8

197 7 600000 600000 j*f g+= 8

198 8 300000 300000 j*f g+= 8

199 9 450000 j*f g+= 8

200 10 300000 j*f g+= 8

201 11 200000 j*f g+= 8

202 12 100000 j*f g+= 8

203 13 100000 j*f g+= 8

204 14 200000 j*f g+= 8

205 15 200000 j*f g+= 8

206 16 100000 j*f g+= 8

207 17 150000 150000 j*f g+= 8

208 18 200000 j*f g+= 8

209 19 200000 j*f g+= 8

210 20 j*f g+= 8

211 21 j*f g+= 8

212 22 j*f g+= 8

213 23 j*f g+= 8

214 24 j*f g+= 8

215 25 j*f g+= 8

216 26 j*f g+= 8

217 27 j*f g+= 8

218 28 j*f g+= 8

219 29 j*f g+= 8

220 30 j*f g+= 8

221 31 j*f g+= 8

222 32 j*f g+= 8

223 33 j*f g+= 8

224 34 j*f g+= 8

7450000 5400000

44=11 k|=

225 1 400000 j*f g+= 9

226 2 300000 300000 j*f g+= 9

227 3 1400000 j*f g+= 9

228 4 300000 j*f g+= 9

229 5 300000 300000 j*f g+= 9

s'n of]hgf %) ;Demf}tf ePsf] #) 

s'n hDdf 

lkkn;f/] b]vL b]lj:yfg jf6f] lgdf{0f :t/f]GgtL

l;?kf6f b]vL ;f]tvf]nf ;8s lgdf{0f

l;/]gL b]vL rf}tf/L ;Dd ;8s lgdf{0f

wf/fkfgL vf=kf= dd{t tyf kfO{k vl/b

lkkn;f/] b]vL pbf]vf]nf af6f] :t/f]GgtL

hDdf of]hgf #$ ;Demf}tf ePsf] @)

cl/of cf+k vf=kf= lgdf{0f 

skf;] l;rfO{ kf]v/L lgdf{0f 

8l8ofy/L b]vL s'gfy/L hf]8g] s[lif ;8s

s'gfy/L vf=kf= lgdf{0f 

;f]tvf]nf l;rfO{ s'nf] 

s'lDesf]6 vfg]kfgL 

e§]3f/L vf=kf= dd{t

em'n]vf]nf e§]3f/L s'nf] 

bdf/ cfdf ;d'x ejg lgdf{0f 

cfwf/e't ljBfno s'lDdsf]6

dl;gf uj}gf b]p/fnL ;8s

s'gfy/L ljBfno lkmN8 lgdf{0f

skf;]vf]nf d;]/L l;rfO{ s'nf]

x's]{ 9'uf+ cfdf;d'x ejg lgdf{0f

cf]bfntfn bdf/ s'gfy/L ;8s

b]p/fnL dfg]Zj/ ;8s

bdf/ uN5]gf ;8s

bdf/] e'Ns], x's]{ l/+u/]8 dd{t :tf]/GgtL

uN5]gf sfnLsf u'kmf ;8s



230 6 400000 j*f g+= 9

231 7 j*f g+= 9

232 8 j*f g+= 9

233 9 j*f g+= 9

234 10 j*f g+= 9

235 11 j*f g+= 9

236 12 j*f g+= 9

237 13 j*f g+= 9

238 14 j*f g+= 9

239 15 j*f g+= 9

240 16 j*f g+= 9

241 17 j*f g+= 9

3100000 600000

40 k|

242 1 1500000 864000 j*f g+= 10

243 2 1000000 1000000 j*f g+= 10

244 3 500000 j*f g+= 10

245 4 3500000 j*f g+= 10

246 5 300000 j*f g+= 10

247 6 300000 j*f g+= 10

248 7 j*f g+= 10

249 8 j*f g+= 10

250 9 j*f g+= 10

251 10 j*f g+= 10

252 11 j*f g+= 10

253 12 j*f g+= 10

254 13 j*f g+= 10

255 14 7100000 1864000

33=33 k|=

Psd'i6 hDdf

1 500000

2 500000

3 1000000

4 300000

5 100000

6 31130

7 2000000

8 50000

9

22594000

s'n of]hgf @%% ;Demf}tf ePsf] !)@ ;Demf}tf ug{ jfFsL 

6]G8/ sf]6];g jf6 

60460000

hDDff of]hgf !@ ;Demf}tf ePsf] $ 

6'lgkfgL l;+rfO{ kf]v/L ln:g] 

ln:g] l;rfO{ s'nf] lgdf{0f

/ftf]kf]v/L 8'8Lu}/f ;8s

lrkm|n]8fF8f cf]bfntfn ;8s

cfsf;] kfgL ;+sng 3}6f]

h'u]wf/f vf=kf=

s'n hDdf 

hDdf of]hgf !& ;Demf}tf ePsf] ^

lj/fdL s'?jf 3/ x]=kf]= lkmlgsf+8f 

j8f sfof{no jfx]s uf=kf= 4f/f ;+rflnt of]hgsf] e'QmfgL ljj/0f 

j8f :tl/o v]ns'b sfo{qmd 

a/fxsk /lgË l;N8 k|ltof]lutf

lu|g kfs{ lgdf{0f 

cuf{lgs gd'gf ufpF 

a/fxtfn uf=kf= :tl/o v]ns'b sfo{qmd 

nlIft ju{ sfo{qmd 

a/fxtfn dxf]T;j ;+rfng

wdnfvfnL ljBfno dd{t 

7



10

11

4481130

27075130Psd'i6 hDdf 



9





11




